A £ 0l & AF & S

Al A

M E2UE
B YR CReA I
gl =283 (Er2 &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
E2uESh 45,501,498 48,797,774 A3,296,276
= 552,586
[ 1,277,000
Il 225,000
== 5,277,401
= 38,169,511
e E2EA X4 12,894,053 14,175,711 1,281,658
2 465,7%
= 1,431,254
= 10,997,003
cdd 3,350 88,144 N84, 794
C2US20F SeAY =& 3,350 76,600 NT73,250
202 04l 1,050 1,400 A350
01 =LHAHI 1,050 1,400 A350
O =l 22 E (st 20
20,0002 x5 %153 %70/100 1,050
203 =4l 2,300 2,700 A400
03 A=A 2= 2,300 2,700 A400
O E2US20F AMFTUARFA 2,300
C2AE 6,258,528 9,962,352 A3,693,824
SMEE SRS TR IA} 300,000 1,000,000 A700,000
401 AIZHIYL S OHY 300,000 1,000,000 A700,000
01 Al&H| 297,855 993,739 A\695,884
O &l AEd SRELTZAL 297,855
03 Al =2 THHI 2,145 6,261 A4,116
O gl A& S2EELISAL
297,855,000& +0.72/100 2,145
S 22 T2HESAt 250,000 500,000 /250,000
401 A2 HIZL R 0HbI 250,000 500,000 250,000
01 Al&HI 248,212 496,425 A248,213
O 35 23U SALISA 248,212
03 Al 20HHI 1,788 3,575 N1,787
O 35 S2dYz SLITA
248,212,000&+0.72/100 1,788
SHEE-FA T2HESA 1,700,000 1,000,000 700,000
401 Al HIZ S 0HbI 1,700,000 1,000,000 700,000
01 AlZ8| 1,693,901 993,739 700,162
EUEE-FA 2L SA 1,693,901
03 Al 20HHI 6,099 6,261 A162
O SHEE-FA T2HESA
1,693,901,000& *0.36/100 6,099
OId Migs =22 ZITAL 600,000 500,000 100,000
401 AlEHIZ R0 600,000 500,000 100,000

- 675 -




2A: S2us
M NS CREY XA
&9l S2NE (SHol: ®e)
SA - B CRI(S]) - NISAY - BES A HIm=S2t
01 Al&HI 5%,243 496,425 99,818
O OIM Hgd S22 AL 59,243
03 Al 2 CHYI 3,757 3,575 182
O OIM Mg S2EEE AL
596,243,000& +0.63/100 3,757
AAARABD C RS E DAL 600,000 500,000 100,000
401 A& HILS0HY| 600,000 500,000 100,000
01 AlEHI 596,243 496,869 99,374
O 22 AR &2 Z3A 596,243
03 Al 0HYI 3,757 3,131 626
O 2 Qs &2 Z3A
596,243,000& +0.63/100 3,757
0| M T2 DA} 200,000 500,000 A300,000
401 A& B2 20HYI 200,000 500,000 A300,000
01 Al&HI 200,000 496,869 A296,869
O 70| A 2SI AL 200,000
D4 01 E E 2 E I DAL 800,000 1,500,000 700,000
401 Al HILS0HY| 800,000 1,500,000 A700,000
01 AlEHI 794,991 1,494,619 269,628
O D&t GU0IZ C2ETLETAL 794,991
03 Al CHYI 5,009 5,381 A372
O D&t o018 S22 ST ETAL
794,991,000&+0.63/100 5,009
dd Otz KUEZ SHLE DA} 260,000 1,500,000 1,240,000
401 A& HIZLE0HY| 260,000 1,500,000 A 1,240,000
01 Al&HI 260,000 1,494,619 A1,234,619
A& Otxzm MAE 2 ST DAL 260,000
=5 ¥ sHEE=Z 0I2EAX 100,000 200,000 100,000
401 Al HIZL 200 100,000 200,000 100,000
01 AlEHI 100,000 200,000 100,000
O 2% & sHEkz 028X 24 100,000
=25 2 SsHEEZ 24 3,528 2,352 1,176
202 bl 3,528 2,352 1,176
01 =WO4bI 3,528 2,352 1,176
O S2AI4E s&2 0|
,0002 6 *12&+70/100 3,528
2AF2 C2I|2 - HUIHE(BE) =8 45,000 0 45,000
401 A& HIZLS0HY| 45,000 45,000
01 Al&HI 45,000 45,000
O &=z &2J2 - Jyl(Ag22)H &
=g 45,000
2E28sN S2INEAE (O 1) 800,000 2,000,000 1,200,000
401 AIEHIZ20HYI 800,000 2,000,000 1,200,000
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A E2WEN
Hu: YN c2ey £4
&l S2AI4 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 794,991 1,992,825 1,197,834
O 2&2basd T2INEAML(OHE1L) 794,991
03 A2 THYI 5,009 7,175 N2,166
O ZE255H CRHMAIL (OH= 1)
794,991,000& +0.63/100 5,009
adl slel~dlst SEF HZ SA 500,000 0 500,000
401 AlZHIZ 20 500,000 500,000
01 Al&HI 500,000 500,000
O &l otel~dls S8R A2 500,000
SM~EFH2t 20T M4 100,000 100,000
401 Al HIZL 201 100,000 100,000
01 Al&H| 100,000 100,000
O Bd~E22t ZUE & IRgEt 100,000
C2RA 2l 6,632,175 4,135,215 2,496,960
= 465,7%
= 1,431,254
= 4,736,125
TR A2 ALY 1,988,150 2,69%,215 AT707,065
= 20,000
Ea 1,968,150
201 eer23| 166,000 334,000 /168,000
01 AtR2t2|HI 112,000 172,000 260,000
O M&EH gxz 100,000
CE2E-AY LIS
400,000 14 5,600
O 22| Ha2! o2
8, 0003 x202 x24!x20H 6,400
02 S3=gl 54,000 162,000 108,000
O Xi&Fdl (9CH) 54,000
202 04| 2,940 2,940
01 2LHA b 2,940 2,940
O 2228 &0
70,0002 x5 %122 %70/100 2,940
206 MH=HI 140,000 140,000
01 MHZH| 140,000 140,000
O 228 M 140,000
305 =S 10,000 10,000
01 =S 10,000 10,000
O tias s(asHlg) 10,000
401 Al HIZ R 0HbI 1,669,210 2,148,275 A479,065
== 20,000
[Ea 1,649,210
01 Al&HI 1,658,608 2,134,604 A475,9%
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M E2UE
Hu: YN c2ey £4
gel: E2RX 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O ZERXZel A 596,243
O =2k ¥ S0HEEE HEHEAY 894,365
O F=2UFHHH & 148,000
-&iell A0S 0tAZ IR At 20,000
el AHAOS OFAE EE AHY 35,000
-2F =02 &2 A2 TMRI| MY 20,000
—-gtob F2et0tE B2 EHIAY 8,000
-ttt E=R0tS Bi+==2 A 25,000
-S4 702 =2 SHTIAY 5,000
-S4 PAH0E S22 =2 A 35,000
O &d dSk7 2 AL EA
(& NALESE FF004) 20,000
S 20,000
03 A2 THYI 10,602 13,671 A3,069
O ZERXZel At
596,243,000& *0.63/100 3,757
O Zk & sHEZZ MEIAH
894,365,000& +0.63/100 5,635
O =204t 168,000,000& *0.72/100 1,210
ANSE LS () JLodEy 420,000 300,000 120,000
= 120,000
[Ea 300,000
401 A& HIX R0 420,000 300,000 120,000
< 120,000
o 300,000
01 A28l 420,000 300,000 120,000
O ANSY UaAEES(nE) d8Ed 89 420,000
== 120,000
o 300,000
PIEEZ RRMLAG (DL 28 AEEZ SSIMEA 970,000 800,000 170,000
) (HEAL)
= 500,000
o 470,000
401 AIEHIX SO 970,000 800,000 170,000
= 500,000
o 470,000
01 AlZ2H| 970,000 800,000 170,000
O L&t 2l 82 dEINEAY 970,000
s 500,000
s 470,000
MHoHAZE e S22 (M) 750,000 750,000
401 Al HIZL 201 750,000 750,000
01 Al&H| 750,000 750,000
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=M Z2DSD
ME: NS cREY XY
gel: E2RX 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
| O Malsigng 2422 750,000
U= 82 2RHEAM 1,400,000 200,000 1,200,000
LS 700,000
o 700,000
401 AIZHIX 20 1,400,000 200,000 1,200,000
= 700,000
e 700,000
01 Al&HI 1,400,000 200,000 1,200,000
O 4% UF ABEE HeA 1,400,000
& 700,000
o 700,000
22 FIIE Ol SA 500,000 500,000
401 AIZHIZ SO 500,000 500,000
01 AlHI 496,425 496,425
O =1 Ol SA 496,425
03 Al S THYI 3,575 0 3,575
O FI% 0IEZA
496,425,000 * 0.72/100 3,575
& =105 IEIHE A 40,000 0 40,000
401 AIEHIZL SO 40,000 40,000
01 AlZHI 40,000 40,000
O 8% 205 ATHEM 40,000
C2 MHHSFAIL=HZNR(6.27~7.27 SRIIH) 564,025 0 564,025
= 465,79%6
& 91,254
[Ea 6,975
401 AlEHIZL S0 564,025 0 564,025
= 465,7%6
= 91,254
[ 6,975
01 AlZHI 564,025 0 564,025
O ZE26S 4 ol S2AHY 51,980
= 42,927
s 8,410
o 643
O Btz THoll= A 233,691
= 192,992
= 37,809
o 2,890
O 2l& 208= o=+ AH 83,384
= 68,862
LS 13,491
o 1,031
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SN CRDED
BH: YNE 28 T4
gel: E2RX 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 2E1558 MaH=PAY 194,970
= 161,015
S 31,544
T 2,411
SAHEAE FX2tel #2435t 2,019,000 2,957,952 A938,952
SAHSAE RX2R| ZX 2,019,000 2,957,952 2,938,952
SAHSAIE RT22IME 2,019,000 2,957,952 £.938,952
201 L= 39,000 50,600 A11,600
01 AFS2t2ltl 9,000 0 9,000
O SAASAL B3I RN 9,000
02 3224l 30,000 50,600 20,600
SAAHEANE EE2= 30,000
305 HHal= S 5,000 5,000
NEEE 5,000 5,000
O H&ra S(2sHI8) 5,000
401 Al&bI L= CHb| 1,975,000 2,900,000 925,000
01 AlZHI 1,965,999 2,887,190 A921,191
O SAAEAIE RTB2IMY 745,304
O ZAHEEZ THEEAMS 1,195,695
O slduxZ =H HEAS 25,000
03 A& = ChH| 9,001 12,810 £3,809
O SAHSAIE RTZ2IML
745,304,000 *0.63/100 4,696
O SAAHEZE HEFAY
1, 195,695,000 +0.36/100 4,305
sus AblIA A 22,248,240 27,893,381 Ab,645, 141
= 85,200
2 1,277,000
Il 225,000
= 1,681,865
s 18,979,175
dsns s4 & X2 9,743,698 11,380,617 21,636,919
= 10,200
2 1,222,000
S 1,358,765
ia 7,152,733
Hsus=gac 289,768 232,417 57,351
101 e124d| 13,728 12,853 875
04 JIZtN2Z2 X SE+ 13,728 12,853 875
O NUHA 8N 29 2502
oI 78,880%2F * 152301 A~ 7,100
O 28 SO B2 0I2HA YAl 2FTH
ol 118,344 x 142 x4 6.628
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M E2UE
M HsSuS MUlA e
el Uisus 54 2 A& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 73,688 161,698 /88,010
01 At2teltl 22,088 122,898 100,810
O U=EwE E2HI(AILIBA, DRT)
2,000,000 5K 2~*90/100 9,000
O Wsus “detE = 2e
6,000,000%90/100 5,400
O H=snsS(0ts, d5202) =2ds ¢E
SAlZeldl 5,000,000& *90/100 4,500
O HEDE 2y o 2 NS ol
1=l 200,000 64 1,200
O Usus =8=d o5 & A8 ad
Sl 2 oF2h)
8,000 x2& »633] 1,008
O A3l slojgs 42
70,0008 7 H 23] 980
2 s5=g4l 51,600 38,800 12,800
O Xl (2Y) 1,800
O Or2tA ISR 2SHI(HD], =&
£41) 10,000
O OISt~ SEXIS S2II(6E) RA 22
200,000& 17CH*22H 6.800
O HASBISAALEBIS) 2X 22 20,000
O S%5% U 2EVeINAY AIBR
583,333 * 122 7,000
O OiSHA 58l 2 3R]y &Iz
500,000 * 122 6,000
202 04l 2,352 2,940 588
ETET 2,352 2,940 588
O HERSY SZ0iH|
70,0002 x4 %122 %70/100 2,352
401 AIEHIX S0 200,000 50,000 150,000
01 A28l 200,000 50,000 150,000
O AUHA =84EE AMExdH| 200,000
AMUHA BRI WSS XA 30,000 30,000
207 AR 30,000 30,000
01 H7ESHI 30,000 30,000
O AlLHHA Hi=ded 2880t 24 &
HAled WSE A 30,000
HASSAXMMEXZ(EX) 2,489,530 2,489,530 0
= 1,244,765
[Ea 1,244,765
307 el2to| & 2,489,530 2,489,530 0
= 1,244,765
o 1,244,765
B 2=EHEXS 2,489,530 2,489,530 0
O A HEXES 2,489,530
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M E2UE
M HsSuS MUlA e
el UEsus |54 & AE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,244,765
s 1,244,765
HA S X2 (KEA) 20,000 20,000
308 AHXIEMSOIE 20,000 20,000
07 MXISHHIRE = 20,000 20,000
O AllibA =A2aS(S5Y 60 2) 20,000
HIEd EABAS(EX) 2,174,000 2,174,000 0
[ 652,000
o 1,522,000
307 212+01& 2,174,000 2,174,000 0
= 652,000
T 1,522,000
09 2+A2LS 2,174,000 2,174,000 0
O 8Hllcd &a2d= 2,174,000
= 652,000
= 1,522,000
2z ¢dst 2ABAZ(HA) 2,000,000 3,180,000 1,180,000
207 ARl 150,000 0 150,000
01 S| 150,000 0 150,000
O 20243 RsHest 4243 &y E9 180,000
307 212+01& 1,850,000 3,100,000 A1,250,000
09 2FAHEXS 1,850,000 3,100,000 A1,250,000
O 2= Hest 424 1,850,000
AUHA Rsas &2 400,000 400,000
307 glztol & 400,000 400,000
09 2+ AE2LS 400,000 400,000
O AMUBA REEs &42d 400,000
2dEWSIHE S Ot2elXl XNIEAE 20,400 4,800 16,600
= 10,200
o 10,200
308 AtAIEHMSOIE 20,400 4,800 15,600
= 10,200
o 10,200
13 SI[2S0He & A AS A 20,400 4,800 15,600
O €SUSIHE A OtelXl XA 20,400
= 10,200
s 10,200
SEELNERY(HA) 2,270,000 1,244,000 1,026,000
= 570,000
< 114,000
= 1,586,000
201 Ler23 | 1,410,000 594,000 816,000
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SN E2DED
M HsSuS MUlA e
el Uisus 54 2 A& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 140,000
=S 28,000
s 1,242,000
01 AtR2t2|HI 10,000 0 10,000
O dxd & MEE2H 10,000
2 35244l 1,400,000 594,000 806,000
O DtsH2A x2eldl(BE8sE, FHidl 8) 310,000
O Ot2HA 2gHI(|FH S) 1,090,000
= 140,000
[ 28,000
Ea 922,000
307 elztol & 854,200 648,200 206,000
= 427,100
[ 85,420
Ea 341,680
QO 2= HEXS 854,200 648,200 206,000
O d==H4A 2g8 X 854,200
s 427,100
s 85,420
s 341,680
308 XtXIEMSO0IH 1,800 1,800 0
s 900
s 180
e 720
13 SI[2SOHe & EAS A 1,800 1,800 0
O HESHA AIAE AIE2 1,800
= 900
= 180
o 720
402 2I2FXH=201H 4,000 0 4,000
[ 2,000
= 400
o 1,600
02 QI XHE AL E R (01X THE) 4,000 0 4,000
O =3hA g g 4,000
[ 2,000
= 400
[Ea 1,600
ALHOIEH A 2tsdFE AIZd 50,000 50,000
401 Al HIZ S OHbI 50,000 50,000
01 A28l 50,000 50,000
O AMUGIEHA SsE3FE A 50,000
usHd 12,504,542 16,512,764 A4,008,222
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o e

el

=S
S MHIA JHd
PSS

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

A H

147,000
73,000

307 212t01™

M H

220,000
147,000
73,000

219,600

400

UMY

220,000
220,000
147,000

73,000

219,600

400

M~ W

750,000

75,000
225,000
450,000

628,99%6

121,004

307 212+01™

W

HJ

750,000

75,000
225,000
450,000

484,9%

265,004

HM W

750,000
750,000

75,000
225,000
450,000

484,9%

265,004

Al =2 XA

M

44,400
13,320
31,080

307 212+01™

M

44,400
13,320
31,080

44,400

M

44,400
44,400
13,320
31,080

44,400

M H

9,768
2,930
6,838

9,768

307 212t01™

UMY

9,768
2,930
6,838

9,768

M

9,768
9,768
2,930
6,838

9,768

2T MISKE HAISEH AEHEAL S

22,000

22,000
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M E2UE
B EDE MU~ e
Sl WSTI EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
207 ARl 22,000 22,000
01 H1E4H] 22,000 22,000
O 232 NbAt BHAISE M AEHEAL S 22,000
SEHDIE EXZAHY 127,600 0 127,600
S 24,850
o 102,750
307 @I2to| & 70,800 70,800
02 QB HANEE R 30,000 30,000
O SE8H0I1E ¥4 X 7,000
O SEH01E 832X 23,000
09 2+AE2LS 40,800 0 40,800
O HXNSIEDIE 28] N2 A 40,800
402 2IZtA=01d 56,800 0 56,800
S 24,850
o 31,950
02 RIENEASEZ(0IETHR) 56,800 0 56,800
O GHXSAEDIE EHIA 56,800
== 24,850
o 31,950
WSHEAIZAS (RSLSHOD & 2= wH) 400,000 400,000 0
= 120,000
= 280,000
401 AlEHIZ R0 400,000 400,000 0
= 120,000
Ea 280,000
01 A28l 397,120 397,4% A375
O nSHMAILAIL(=F NSLSHIO0D]
2 EFUAH) 397,120
== 120,000
o 277,120
03 Al 20HHI 2,880 2,506 375
O WSAHHAELAML (2 RSLSHO0ID]
E=ESmbs()) 2,880
T2 Ot SZJ| XM 50,000 50,000 0
= 15,000
o 35,000
401 Al HIZ S OHbI 50,000 50,000 0
s 15,000
s 35,000
01 Al&HI 50,000 50,000 0
O 2H2T OF2t F2J] EXAr 50,000
[ 15,000
T 35,000
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M E2UE
B EDE MU~ e
Sl WSTI EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ANeIHA EDIZ(2H0IHFE) ZLAS 180,000 180,000
401 AIZHIZ SO 180,000 180,000
01 Al&HI 180,000 180,000
O Al2itiA BOIZ(2013FE) ZgAY 180,000
a7 Ws2g & =2+ 50,800 50,800
201 er=23y| 50,800 50,800
02 S3=gHl 50,800 50,800
O dsSX7 Ws2d & R+ 50,800
2LUMFIIEER(SS, 8Al DISHA) 9,903,000 15,000,000 /5,097,000
307 212+01& 9,903,000 15,000,000 /5,097,000
09 2 AHEXS 9,903,000 15,000,000 /5,097,000
O 2=gH |RHEXRS(32, A, 012H2) 9,903,000
nstlss, 328 X - RA2=s 250,000 0 250,000
401 AIZHIZ SO 250,000 250,000
01 Al&H| 250,000 250,000
O ustlss, Z2s X - 1A=+ 250,000
wnEze| JHe 8,189,142 3,646,670 4,542,472
= 1,590
= 2,164,282
o 6,023,270
wSAEE 2l € I8t &4 8,089, 166 3,517,609 4,541,557
= 1,590
= 2,164,282
o 5,893,294
HASZE B2 ZHAIE £X 9,300 13,350 24,050
S 2,800
o 6,500
401 AlZHIZ SO 9,300 13,350 4,050
== 2,800
o 6,500
01 Al&HI 9,300 13,350 24,050
O HAsSZE B2 ZHAIE £X 9,300
< 2,800
= 6,500
WS A ZH| 1,084,654 1,127,779 N43,125
= 20,000
Ea 1,064,654
101 @12A4H| 60,216 58,797 1,419
04 JIZtN22 XS 2+ 60,216 58,797 1,419
O FMsdd 233
9,860 *600JH A x2S #2A| 24 23,664
O ¢ usetd =20l 36,552
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HMEE
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Ofl &F2H

12,957
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8,638
2,000
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2,400
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73,900
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3,000
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H
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